1973 BMW R75/5, Long Swing Arm Restoration Cost

Rubber Parts

Part # Description Each| Qty Total|Notes
1372 1 254 654 Carburetor sleeve to cylinder head $ 7.50 2 $ 15.00 [Hucky's
32731230037 Handlebar, Throttle cable boot $ 3.15 1 $ 3.15 |Hucky's
32731230038 Handlebar, Brake cable boot $ 2.20 1 $ 2.20 |Hucky's
32721230407 Handle bar grip, Magura, round, left $ 13.00 1 $ 13.00 [Hucky's
32721230 868 Handle bar grip, Magura, round, right $ 13.00 1 $ 13.00 [Hucky's
31422002115 Fork boots, 13 rib, pair $ 4295 1 $ 42.95 [eBay
23411232116 Shift Lever Boot, 4 Speed $ 3.75 1 $ 3.75 [Hucky's
11321 250 267 Push Rod Tube, seal $ 250 4 $ 10.00 [Hucky's
3317 1230 304 Drive shaft boot $ 2150 1 $ 21.50 |Hucky's
46 51 9 034 128 Foot peg rubber, round, pair $ 21.99 1 $ 21.99 (eBay
6113 8 080 160 Speedometer cable boot on Transmission $ 4.25 1 $ 4.25 [Hucky's
46 51 1 231 084 Rubber bumper, Battery Support $ 1.95 10 |'$ 19.50 [Hucky's
63 12 1 351 414 Battery Cover O-Ring $ 2.85 2 $ 5.70 [Hucky's
16 11 1 230 030 Rubber Support, Tank Bracket $ 485 1 $ 4.85 |Hucky's
3142 2 000 381 Fork tube, bottom rubber plug $ 2.10 2 $ 4.20 [Hucky's
31421 230 696 Upper rubber gasket, headlight bracket $ 350 2 $ 7.00 |Hucky's
31422000 385 Lower rubber gasket, headlight bracket $ 5.00 2 $ 10.00 [Hucky's
46 52 1 231 815 Center stand rubber $ 5.10 1 $ 5.10 |Hucky's
6121 1230 392 Battery, Hold Down Strap $ 20.50 2 $ 41.00 |Hucky's
63 128 071 754 Rubber Grommet, Speedo/Tach $ 1.53 2 $ 3.06 |BMW of Denver
61311351646 Front Brake Switch, Rubber Cap $ 5.06 1 $ 5.06 [BMW of Denver
61311351646 Front Brake Switch, Rubber Cap $ 5.11 2 $ 10.22 [MAX BMW (ripped 1st one installing it)
Tire, Front, 3.25xH19 $ 114.19 1 $ 114.19 |Bike Bandit
Tire, Rear, 4.00xH18 $ 140.11 1 $  140.11 [Bike Bandit
Tube, Front $ 2495 1 $ 24.95 |Bike Bandit
Tube Rear $ 2495 1 $ 24.95 |Bike Bandit
$ -
$ 570.68 Subtotal




Control Cables

Part # Description Each| Qty Total|Notes
32731234515 Front Brake Cable $ 2995 1 $ 29.95 |eBay
32731230042 Clutch $ 29.95 1 $ 29.95 [eBay
32731236613 Throttle $ 19.95 2 $ 39.90 |eBay
13 23 1 255 977 Choke, Right, Stiff 1977-1981 $ 1255 2 $ 25.10 [Hucky's
62 12 1 350 594a Tachometer with points cover boot, aftermarket $ 55.00 1 $ 55.00 |Hucky's, has the rubber boot
62 12 1 350 549 Speedometer cable, 120 cm $ 7150 1 $ 71.50 |BMW of Denver
$ 251.40 Subtotal
Fuel, Carburetor
Part # Description Each| Qty Total|Notes
16 12 1 233 368 Karcoma, Screen $ 3.00 2 $ 6.00 |Hucky's
16 12 1 234 869 Karcoma, O-ring $ 3.70 2 $ 7.40 |Hucky's
16 121 238 924 Karcoma, Rubber gasket, 5-hole $ 9.50 2 $ 19.00 [Hucky's
16 12 1 240 060 Karcoma, Fiber gasket, Top $ 1.00 2 $ 2.00 |Hucky's
16 12 1 233 366 Karcoma, Fuel line connector $ 410 2 $ 8.20 |Hucky's
1311 1 258 051 Carb Rebuild Kit (64/32/10, 9), Pair $ 71.90 1 $ 71.90 |Hucky's, no float, needle valve, seat
1311 1254 766 Float $ 2450 2 $ 49.00 |Hucky's
1311 1 254 768 Float Hinge Pin $ 125 2 $ 2.50 |Hucky's
13111254 767 Float Needle $ 8.00 2 $ 16.00 [Hucky's
13111257810 Needle Jet $ 5.40 2 $ 10.80 |Hucky's
1311 1255840 Jet (Slide) Needle $ 6.10 2 $ 12.20 [Hucky's
13111254738 SS |Throttle Shaft Screw SS $ 050 4 $ 2.00 [Hucky's
1311 1 259 870 Vacuum port gasket $ 1.10 2 $ 2.20 |Hucky's
1372 1254 382 Air Filter $ 18.15 1 $ 18.15 [Hucky's
13 11 1 258 319 Fuel Line, Braided $ 5.50 4 $ 22.00 [Hucky's, 3 Ft minimum
16 11 1 230 769 Gas Tank, Emblem, Cloisonné $ 50.70 1 $ 50.70 [Hucky's
16 12 1 233 367 Cap, Petcock Karcoma $ 490 2 $ 9.80 |Hucky's
13111337361 SS |Carb Dome Top Screws, M5x12 $ 1.24 3 $ 3.72 [BMW of Denver
13 11 254 929 slide spring $ 1.90 2 $ 3.80 |Hucky's
13 11 336 585 Throttle Shaft $ 10.00 2 $ 20.00 [Hucky's
13 11 1 337 361 Carb Dome Top Screws, M5x12 $ 040 8 $ 3.20 |Hucky's
$ -
$ 340.57 Subtotal




Frame, Wheels, Forks, Exhaust

Part # Description Each| Qty Total|Notes
07 11 9985 070 Steering head bearing, top & bottom $ 22.00 2 $ 44.00 [Cycle Works
31421234509 Triple Tree Seal Ring $ 3.50 1 $ 3.50 [Cycle Works [same as Hucky Dust Cap]
31422000312 Chrome Cap $ 13.69 1 $ 13.69 [BMW of Denver
31421232511 Upper Fork Cross Brace $ 8298 1 $ 82.98 |BMW of Denver
63 12 1 356 921 Headlight Mounting Bolt $ 6.76 2 $ 13.52 |[BMW of Denver
36 31 1 230 334 Front wheel, outer shaft seal $ 13.88 1 $ 13.88 |Woody's Wheel Works
36 31 1231 701 Front wheel, inner shaft seal $ 15.74 1 $ 15.74 [Woody's Wheel Works
36 31 1230 430 Front wheel, gasket $ 3.86 1 $ 3.86 |Woody's Wheel Works
07 11 9 985 005 Wheel bearings, rear, single $ 26.95 1 $ 26.95 [Woody's Wheel Works
36 31 1 230 334 Rear wheel, outer shaft seal $ 13.88 1 $ 13.88 |Woody's Wheel Works
36 31 1231 701 Rear wheel, inner shaft seal $ 15.74 1 $ 15.74 [Woody's Wheel Works
36 31 1230 430 Rear wheel, gasket $ 3.86 1 $ 3.86 |Woody's Wheel Works
Speedi-Sleeve $ 39.95 1 $ 39.95 [Woody's Wheel Works
Install Speedi-Sleeve $ 20.00 1 $ 20.00 |Woody's Wheel Works
Lace & True Wheel $ 99.00 2 $ 198.00 [Woody's Wheel Works
Remove/Install/Preload Wheel Bearings $ 60.00 2 $  120.00 |Woody's Wheel Works
3399 0 000 001 Rear shocks, pair w/ springs, IKON $ 375.00 1 Hucky's, Likely keep these for now.
36 31 1234 591 SSp |Spoke Set, 18", nipples, 140mm, Stainless $ 75.00 1 $ 75.00 |Hucky's <-- Rim holes enlarged, No return
9S8 9ga stainless steel 18" spoke $ 153 40 |$ 61.20 [Woody's Wheel Works
N9289S 9ga stainless steel nipple $ 122 40 |$ 48.80 [Woody's Wheel Works
36 31 1234 592 SSp [Spoke Set, 19", nipples, 153mm, Stainless $ 75.00 1 $ 75.00 [Hucky's
34 112311 079r Brake shoes, Front, set $ 75.00 1 $ 75.00 |Hucky's
34 21 1 230 264/5r Brake shoes, Rear,set $ 75.00 1 $ 75.00 |Hucky's
07 31 R kit 005 Front Fork Rebuild Kit $ 84.00 1 $ 84.00 |Hucky's
3199 0 000 001 Front Fork Spring, progressive, pair $ 88.00 1 $ 88.00 |Hucky's
63231243618 Rear turn signal holder $ 55.00 1 $ 55.00 [eBay
88335 Sito /5 cigar mufflers, pair $ 394.59 1 $ 394.59 [Motobins, [Includes Exchange Rate, Ship]
18 11 1 230 638 Cross over pipe, Front $ 84.40 1 $ 84.40 |Hucky's
07 32 R kit 002 SS Perch mount Kit SS, Allen head bolts, M6x16 $ 0.70 1 $ 0.70 |Huckys
32712307401 F Handle bar, USA Chrome, Fehling $ 80.00 1 $ 80.00 |Hucky's
32721230870 Screw $ 5.5 1 $ 5.15 [BMW of Denver
07 11 9936 133 Tooth washer $ 063 2 $ 1.26 |BMW of Denver
07 11 9 905 543 Hex Nut, Lever Screw, M6 $ 0.63 2 $ 1.26 [BMW of Denver
07 129 905 536 Fillister Head Screw, M6x16, Pinch Bolt $ 1.33 2 $ 2.66 [BMW of Denver
32721231610 Felt Ring $ 1.9 1 $ 1.91 [BMW of Denver
07 11 9907 101 Switch Housing Cover Screw M5x6 $ 032 1 $ 0.32 |Ace Hardware
35211232137 Wing nut brake rod, brass, polished $ 9.50 1 $ 9.50 |Hucky's
32721233 306 Throttle Cable Perch Cover $ 2327 1 $ 23.27 |BMW of Denver
32721232 664 Control Perch Housing, Right $ 48.94 1 $ 48.94 [MAX BMW
32721230874 Throttle Locking Screw $ 965 1 $ 9.65 |MAX BMW
32721233 306 Throttle Housing Cover $ 2513 1 $ 25.13 [BMW of Denver
$ 1,955.29 Subtotal




Engine, Drive Shaft, Rear Drive

Part # Description Each| Qty Total|Notes
1112 1 338 426 Valve cover gasket $ 525 2 $ 10.50 |Hucky's
11121338 716 Head gasket $ 16.80 2 $ 33.60 [Hucky's
11 11 1 255 001 Base gasket, Normal $ 5.00 2 $ 10.00 [Hucky's
Randy Long Rebuild heads (valves, seats, springs, guides) $ 490.00 1 $  490.00 |Randy Long, includes return shipping
11251 256 478 Rings, 1 oversize $ 65.00 2 $  130.00 [Hucky's
11251 256 478 Rings, 1 oversize $ 70.00 1 $ 70.00 [BMW of Denver [Broke a Ring :~(]
07 11 9 934 460 C-clip, Wrist spin $ 050 4 $ 2.00 |Hucky's
07 11 9 934 460 C-clip, Wrist spin $ 149 4 $ 5.96 |Foothills BMW
Roadies Bead blast cylinders, valve covers, header rings $ 8324 1 $ 83.24 |Roadies
11 13 1 338 427 Oil pan gasket $ 865 1 $ 8.65 |Hucky's
1142 1 337 572 Qil Filter $ 19.30 1 $ 19.30 |Hucky's
11 421 338 600 Qil Filter Gasket $ 1.45 1 $ 1.45 |Hucky's
2642304144 Drive-Shaft Belts; M8x1x14 $ 150 4 |3 6.00 |Hucky's [Wrong Type Use New Type]
07-11-9-930-840b Drive-Shaft Washers $ 020 4 $ 0.80 |Hucky's [Wrong Type Use New Type]
26 111242 297 Drive Shaft Bolts, M8x1x13 (New Style) $ 1.80 4 $ 7.20 |Rubber Chicken Racing
3317 1230287 Swing arm gasket $ 1.80 1 $ 1.80 [Hucky's
07 07 R kit 001 Engine & Drive Gasket Washer Kit $ 3.60 1 $ 3.60 |Hucky's
11141261 193 Cam shaft seal $ 525 1 $ 5.25 |Hucky's
65 61 2 300 654 Cam Housing Gasket $ 176 1 $ 1.76 [BMW of Denver
07 11 R kit 003 SS Engine cover mount bolt set, SS $ 210 1 $ 2.10 [Hucky's
61 13 1 352 095 Engine top rubber grommet $ 245 1 $ 2.45 |Hucky's

Spark Plugs 1 $ - |Euro Motorelectrics

Qil Plug Crush Rings 1 $ - Euro Motorelectrics

QOil Filter 1 $ - |Euro Motorelectrics

Oil Filter Cover Gasket 1 $ - Euro Motorelectrics

QOil Filter O-ring $ 9.00 1 $ 9.00 |Euro Motorelectrics
31412000 331 Swing arm dust seal, 1970-1980 $ 6.00 2 $ 12.00 |Cycle Works
07 11 9 985 005 Swing arm bearing, 1970-1980 $ 16.00 2 $ 32.00 |Cycle Works
11 41 1 335 895 Oil pump cover O-ring $ 3.00 1 $ 3.00 |Cycle Works
11 11 1 338 342 Rear-main Crankshaft Seal $ 22.00 1 $ 22.00 |Cycle Works
11 11 1 338 342 Rear-main Crankshaft Seal $ 22.00 1 $ 22.00 [MAX BMW - Damaged Seal, 2nd Install
11 14 1 337 654 Front Crankshaft Seal $ 9.80 1 $ 9.80 [BMW of Denver
11220016 759 Screw M10x1 24mm, Flywheel $ 4.26 5 $ 21.30 [MAX BMW - Damaged Seal, 2nd Install
11 11 1 256 974 Thrust Washer (Stop Ring), "Blue" $ 2214 1 $ 22.14 |IMAX BMW - Damaged Seal, 2nd Install

REAR MAIN SEAL INSTALLER/PULLER all AIRHEADS 1970-1995 | $ 39.00 1 $ 39.00 |Cycle Works
11411260 182 Oil pump cover $ 4447 1 $ 44.47 [Rubber Chicken Racing
07 11 9913 464 Hex Bolt, M6x16 (Oil Pump Cover) $ 055 4 $ 2.20 |Rubber Chicken Racing
11220016 759 Screw M10x1 24mm, Flywheel Bolts $ 4.26 5 $ 21.30 [Rubber Chicken Racing

$ _
$ 1,155.87 Subtotal




Clutch, Transmission

Part # Description Each| Qty Total|Notes
3317 1230 297 Swing arm rubber boot tension strap $ 2.96 2 $ 5.92 |BMW of Denver
FLYWHEEL(OR-FLYWHEEL HUB)Y-O-RING $ 4.00 1 $ 4.00 [Cycle Works-[NOT NEEDED ON \5]
21511230109 Clutch Throw out lever rubber cup/seal $ 9.00 1 $ 9.00 |Hucky's
21521020 109 Clutch Throw-out Seal $ 435 1 $ 4.35 |Hucky's
23211230 440 Clutch throw our rod felt ring $ 4.00 1 $ 4.00 |Hucky's
23211230106 Clutch thrust rod /5, 4 speed $ 2240 1 $ 22.40 |Hucky's
21211250 035 Diaphragm Spring (Heavy Duty) $ 60.41 1 $ 60.41 |Rubber Chicken Racing
21211 251 801 Pressure Plate $ 118.64 1 $ 118.64 |Rubber Chicken Racing
21211236 332 Clutch Plate $ 135.67 1 $  135.67 |Rubber Chicken Racing
21211231666 Compression Ring $ 142.44 1 $  142.44 |Rubber Chicken Racing
21211231463 Fillister Head Cap Screw Clutch Bolts $ 1.68 6 $ 10.08 |Rubber Chicken Racing
$ -
$ 516.91 Subtotal
Electrical, Wiring, Bulbs
Part # Description Each| Qty Total|Notes
12 11 1 243 555 Points $ 16.50 1 $ 16.50 [Hucky's
1211 1 351 564 Condenser $ 18.00 1 $ 18.00 |Hucky's
Part #: BCK-475473  |Battery cable, (+), no grommet $ 18.99 1 $ 18.99 |Euro Motorelectrics
Part #: BCK-475473 |Battery cable , (-) $ - 1 $ - |Included in kit
12128 036 124 Plug wires $ 3.00 6 $ 18.00 [Hucky's, by the foot
AT-12V20P Battery 12V/22AH - BMW R & K/ WestCo AGM $ 69.00 1 $ 69.00 |Euro Motorelectrics
12 31 1 244 480 Alternator Carbon Brushes, Set $ 642 1 $ 6.42 |Euro Motorelectrics
12128 036 157 Spark Plug Boots $ 18.55 1 $ 18.55 |BMW of Denver
$ -
$ 165.46 Subtotal
Fairing, Luggage, Accessories
Part # Description Each( Qty Total|Notes
VetterElecPlg-Kit Windjammer-electric-connectorbulkhead $ 19.00 1 $ 19.00 |Vetter Wrong Pins for Windjammer |l Model
Vetter Edging Kit Windjammer, chrome edge trim $ 62.00 1 $ 62.00 |Vetter right and left sides
Vetter Foam Tape Windjammer windshield tape $ 30.00 1 $ 30.00 |Vetter
Vetter Plastic Repair [Windjammer Hotcha Repair Kit $ 77.00 1 $ 77.00 |Vetter
71111230685 BMW tool kit, 19 piece $ 137.00 1 $ 137.00 |Hucky's
7111 1 234 860b Tire pump, black $ 27.00 1 $ 27.00 [Hucky's
71111237 857 Combination wrench $ 28.00 1 $ 28.00 |Hucky's
71111237 858 Fork cap pin wrench $ 21.00 1 $ 21.00 [Hucky's
71119090 154 Feeler gauges $ 7.00 1 $ 7.00 [Hucky's
7198 0 000 003 BMW Shop Towel $ 10.00 1 $ 10.00 |Hucky's
$ -
$  418.00 Subtotal




Paint, Polish, Wax, Consumables

Part # Description Each| Qty Total|Notes
Blast & Powder Coating
Blast & Powder Coat Erame, subframe, swing arm, center stand, controls, headlight ears, $ 190.75 1 $ 190.75 |BFN Enterprises, Brad
license plate bracket
Blast & Powder Coat [Swing arm, shock springs, shock adjuster, spring bushing $ 60.00 1 $ 60.00 |BFN Enterprises, No Bill
Blast Gas Tank $ 75.00 1 $ 75.00 |BFN Enterprises
Subtotal = $325.75
Paint
Primer & Paint, Monza Blue $ 594.00 1 $ 594.00 [Holt BMW
Pin Stripe Stencils, Paint & Tape $ 80.32 1 $ 80.32 [TCP Global
Pinstripe Hardner $ 23.90 1 $ 23.90 (TCP Global
Touch up Paint $ 16.00 1 $ 16.00 |NAPA, Hobby Lobby
Lacquer Thinner-1 Gal $ 31.30 1 $ 31.30 [O'Reillys
SEM Clear Coat Blender $ 18.34 1 $ 18.34 |O'Reillys
Dupli-color Paint-Side Covers, Tape $ 2487 1 $ 24.87 [O'Reillys
Subtotal = $788.73
Painting Preparation & Supplies
Paint Supplies $ 136.26 1 $  136.26 |Painter Supply
Paint Supplies - Returned $ (94.27) 1 $ (94.27)|Painter Supply-Not Needed
Paint Supplies S 20.69 1 $ 20.69 |Painter Supply
Sandpaper $ 1185 1 $ 11.85 |Ace Hardware
Sandpaper $ 38.59 1 $ 38.59 [Home Depot
Steel Wool/ Sandpaper $ 35.03 1 $ 35.03 [Ace Hardware
Sandpaper $ 647 1 $ 6.47 |Ace Hardware
Sandpaper $ 870 1 $ 8.70 |INAPA
Tape and Supplies $ 25.05 1 $ 25.05 [Home Depot
Painting Supplies $ 460 1 $ 4.60 [Home Depot
Masking Tape $ 6.00 1 $ 6.00 |Ace Hardware
Emblem tape $ 1261 1 $ 12.61 |O'Reillys
Paint Prep $ 17.25 1 $ 17.25 |O'Reillys
Fiber Glass Resin, Glues, Sanding Mask, Compr. Fittings $ 60.59 1 $ 60.59 |Home Depot
Respirator Filter $ 2253 2 $ 45.06 |Sherwin Williams
Paint Supplies $ 4267 1 $ 42.67 |Painter Supply
Paint Prep $ 8.09 1 $ 8.09 [Auto Zone
Paint Supplies $ 11.86 1 $ 11.86 |Painter Supply
Sandpaper $ 8.09 1 $ 8.09 |O'Reillys
Subtotal = $405.19
Miscellaneous Materials
Engine Assembly Lube $ 6.68 1 $ 6.68 |O'Reilly Auto
Novus Plastric Scratch Remover & Polish $ 10.81 1 $ 10.81 [The Container Store
5 Minute Epoxy $ 562 1 $ 5.62 |O'Reillys
3M Weather Strip Adhesive (aka, "Gorilla Snot") $ 6.44 1 $ 6.44 INAPA
Airhead Top End Manual $ 25.00 1 $ 25.00 |Oak Okelshen

325.75

788.73

405.19



Subtotal = $119.77 $ -
$ 1,574.22 |Subtotal
Miscellaneous Hardware
Part # Description Each| Qty Total|Notes
07 07 R kit 001 Drain Plug Washer Kit $ 3.60 1 $ 3.60 |Hucky's
07 18 Rkit 002 SS  [Muffler mounting bolt kit $ 270 1 $ 2.70 |Hucky's
46 511231093 SS [Hex bolt, M8x25, Stainless Steel, Handhold $ 0.60 1 $ 0.60 |Hucky's
07 46 R kit 007 SS Battery bracket mount kit, SS $ 1.00 1 $ 1.00 |Hucky's
07 46 R kit 002 SS Center stand mount kit, SS $ 2.50 1 $ 2.50 |Hucky's
Nuts, Bolts, Washers $ 40.97 1 $ 40.97 |Ace Hardware
Nuts, Bolts, Washers $ 2425 1 $ 24.25 [Home Depot
$ B
$ 75.62 Subtotal
Ship, Tax, Discounts
12/14/2012|Shipping to Randy Long Ship $ 28.00
12/14/2012|Roadies Tax $ 0.24
12/20/2012[Hucky's Ship $ 18.00
12/20/2012|Hucky's Discount $ (94.11)
12/31/2012|BMW of Denver Tax $ 9.47
2/20/2013|Euro Motorelectrics Tax $ 1.38
2/21/2013|BMW of Denver Tax+Ship $ 16.03
2/27/2013|Hucky’s Discount $ (21.05)
2/27/2013|Hucky's Ship $ 18.00
3/4/2013|PayPal-Turn Signal Bracket Ship $ 3.00
3/14/2013|BMW of Denver Tax&Ship $ 3.82
4/15/2013[Hucky's Discount $ (73.33)
4/15/2013[Hucky's Ship $ 16.85
8/20/2013|MAX BMW Ship $ 14.50
9/20/2013|Woody's Wheel Works Tax $ 24.74
11/5/2013|Euro Motorelectrics Tax $ 3.11
11/28/2013|MAX BMW Shipping $ 11.69
12/5/2013|Foothills BMW Tax $ 0.45
12/5/2013|BMW of Denver Tax $ 1.86
$  (17.35) Subtotal

TOTAL PROJECT COST -->

$ 7,006.67

54.55



